DO NOW

Simplify: 1. (x+5)

2. (b—10)

a. Add a constant to make the resulting trinomial a perfect square.
b. Write as the perfect square of a binomial.

3. X —8 4. n*+20n
(D E- & =100
o) %% 8% + 1o Q. N*+20n +100
b) (x—4) b. (n+10)
5. 1 +6y 6. ' —16a
(&)=1 )=
o yA+ey ¥ Q. a-lba+6H
2.
b. (y+3¥ SRR
Examples:
7. X +46x+7=0 8. b*—2p—10=0
X2+bx = ~7

2 b-2b=10
(3)=1 (Z)=1

X +bx+9=~7+9 B2 +{=10+ |

(er3)'= 2 b-1) =1
X+3 = L 2 JD_\ :im
X =732 +

$.3 Solving Quadratic E ions by Completi
the Square

wxx (A Se. Compleﬁnﬁ the Square 4o solve
unfachrable Guadratie eaDuod-ions.

What pattern can you find in these perfect square trinomials?
1. (x+5) 2. (b—10)°

10 +25 b~20b +100

PROCEDURE:
1. Rewride 40 x?+bx=c

2. Add (‘;%y)ro each side

3. Wrile the left side as (biv\omia\>z

4 Take Fhe souare oot of botHh sides
(Use £ sign)

5. SO\UQ ?M‘ ™
6. l/\l T';Jrc H\e +wo &ol\dﬁ‘c‘qg_

9. 2= —4x—1 10, 4x+8=2x"
L, 2+ (=0 0=227-4x-8
E:IQ X2 +2x+.”/=0 OZXZ—ZX—L/
X'+2x= =5 Y=x22x
2.

(’%):f L}+]*%Z—2’X+ (
N2+2xH =5+ 5= (x-N*
(X"\'l)l:.g j\E:X—\
X+1=%95 N
X="1%18§ | 215=x




HOMEWORK

Worksheet - HW 8.3



